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AboH = n=2 N =
2.5 g = o olaroy | 012 g J =
700
A 2 8,834272| 8,761,591 72,681
710
ooy 2 8,734272| 8,661,591 72,681
712
X A 4732,959| 4,732,959 0
201
Bt o H 288,838 268,838 20,000
235,343 215,343 20,000/ 201-01 (At=2-2IHI)
OJN}ESHAZE PLC HEMOILH EASTH 20,000,0008 X 1Al 20,000
214
AMSX DA 2059.127| 2,079,127 A20,000
637,727 657,727 A20,000| 214-05 (==& 7 XIdl)
OJ}ESHAZE PLC HEMOILH EASTH
2 0-J|A 20,000,0008 X 14! A20,000
751
QB2 3,206,313| 3,223,632 72,681
201
B2 o H 276,571 264 421 12,150
206,765 194,615 12.150{ 201-01 (Ar=2tcltl)
OMBlEE Q2 DXA X 2
2 (509 X 47,250% X 128) 28,350,0002-J|& 16,200,000 12150
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2t (700) AtiHl & & (710)9dl s Mgt (751) 2 Brateld|
ni: = =
2+ 5t Hl&t o= Ol &5 01|/§>0_\H HlwsZ At = | =
206
M=l 60,531 0 60,531
60,531 0 60,531| 206-03 (2=322Hl)
78.97 X 2,100m X 365 = 60,531




